Total No. of Questions : 5] SEAT No. :

P3025 [Total No. of Pages : 4
[4904]-1001
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1001 : Micro Economic Analysis - I
(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :

01) a)

b)

02) a)

03) a)

b)

1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each question in 250 words.

Discuss the basic economic problems. [10]
OR

Explain the functioning of price mechanism in the market economy.

Explain the cardinal and ordinal utility approach. [10]
OR

Explain the difference types of cost.

Explain the Cobb-Douglas production function. [10]
OR

What is Index? Explain the various problems involved in construction of
Index number.

P.T.O.



Q4) a) What is mean by elasticity of demand? Explain the various types of
elasticity. [10]
OR
b) Explain the low of variable proportion theory.

Q5) a) Discuss the problem associated with the measurement of social welfare

concept. [10]
OR
b) Whatis mean by Indifference curve? Explain the properties of indifference
curve.

SISIS

[4904]-1001 2



Total No. of Questions : 5]

P3025
[4904]-1001

M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1001 : Micro Economic Analysis - I
(2013 Pattern) (Credit System)
(FTET ' 4TaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @ 997 ravaes 3ATEA.
2) SwdtwSter ofw guf ur Fvifaara.
3) ueaer gt 250 vreqra I fergr.
4) dIufarst g WSt TvIUfAST uTETdl.

gyT 1) 1) HAYA AT FWEATH Tl w. [10]
foRan
) RIS A fohia Iauren HEHET T .

YT 2) 1) SThEI ATV HAGYIT IUATRIAT FHIehI TUTE . [10]
feRan
) T Ay THR T w1

97 3) ) hid ST IcdTad el T . [10]
feman
¥) e o s ? [ anavfidier fafaa auen wose &,



o7 4) 31) HEUiRR cafeRdar o i ? AR fafay ger wuse @, [10]
femar

) agerca THTUMET Ew Tt .
gy7 5) ) CHISTHEATUT HeheUdT HIIATI Hefa THer= o . [10]

feman
q) A A5k TGURS T ? FEGTT AshTAl U TR .

SISIS

[4904]-1001 4



Total No. of Questions : 5] SEAT No. :

P3026 [Total No. of Pages : 4

[4904]-1002
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1002 : Public Economics - I
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) Explain the role of government in organized society.
OR

Explain the wagners law of increasing state activities.

(02) Explain the ability to pay approach of taxasion.
OR

Explain the wiesman - peacock hypothesis.

03) Explain the problems of double taxation.
OR

Explain the concepts Private goods. Public goods and merit goods.

[10]

[10]

[10]

[10]

[10]

[10]

P.T.O.



04) Explain the theory of optimal taxation.

Review the reforms in expenditure budgeting.

05) Explain the changing structure of public expenditure.

OR

OR

Explain the theory of club goods.

[4904]-1002

SISIS

[10]

[10]

[10]

[10]



Total No. of Questions : 5]
P3026
[4904]-1002
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1002 : Public Economics - I
(2013 Pattern) (Credit System)

(TSt TUTHR)

aw : 3 ar|] [T 9T - 50

geAar ;- 1) @d 997 JTEvgR HTEd.
2) SwdtkEteT 3w qul U FVifaara.
3) 3w A¥Hl T {gage S@Tdid.
4) weEsdht I 250 vrsgia forgT.
5) @ewrarst @ 3T TeAuHTRT UgTal.

gy7 1) wHed AU AT TR HIGT TIE .
femen
AT TGl AATAT=AT s gl it feara fawe w0,

97 2)  SIRIOATE ST eTHdT A TUSe R,
femar
T - fUehter Frean T FeuT TfewR T .

97 3) Tl R qHEE fawg w1,
e
WAt 9, ATEWUTeh a%q ST [UERITeReR a%q HeheudT faug o,

[10]

[10]

[10]

[10]

[10]

[10]



o7 4)  STRATn uAie e wose
feman

AT USRI GURUTT ATSTET 4.

99 5) ArEiUTeh WA deeid FET T .
feman
ageh a&q (clubgoods) faegra wuse w.

SISIS

[4904]-1002 4
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Total No. of Questions : 5] SEAT No. :

P3027 [Total No. of Pages : 4

[4904]-1003
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1003 : International Trade

(2013 Pattern) (Credit System) (Compulsory)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) Critically examine the comparative cost advantage theory of international trade.[10]
OR

Terms of trade are always adverse to under developed countries. Explain.

Q2) Evaluate the leontief paradox. [10]
OR

Explain the concept of terms of trade. State types of net barter terms of
trade and gross barter terms of trade.

03) Explain the Heckscher-ohlin theory of international trade. [10]
OR

Explain the arguments in favour and against of free trade policy.

P.T.O.



04) Explain the effects of tariffs. [10]
OR
Discuss the broad features of 'Dunkel Proposal.

05) Explain the composition of the Global trade growth. [10]
OR
Explain the effects of W.T.O. on Indian economy.

SISIS

[4904]-1003 2



Total No. of Questions : 5]

P3027
[4904]-1003

M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1003 : International Trade
(2013 Pattern) (Credit System) (Compulsory)
(FTET 'aTaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @F wv7 @isa.
2) IdthEt 3 UvATd Ut urT gvifadard.
3) 3™ A"l T [egg SHAETIId.
4) uA® gvarar 250 Iregia 3w forgl.

gyq 1) AW SATARAT JAATeHS @d AT g Srenteeh adrerur . [10]
feRan
reufareRHId ST SATIRITAT JgH! Ufdeher ST&daTa — Tase .

gy 2) Toerifewean femamaam geammas &, [10]
feRan

SATARITA e TehodAT AN oo a5 SATIReTd] o Tofet o SATARETd! TR
e .

g7 3) EEvER 3NETeT TTem ATARTSET SAURTe fega vase . [10]
feRan
Heh SATIR AR a9 foeeg a[d wigvara Ao Jehiarg Faee o,



97 4) ARt UfuH T . [10]
fepenn
TUhHe! TEATATAT 3ebeh ATITSSAT= Tl &l

g7 5) WATIAe SHTUR STE gk 9. [10]
fepenn
HAMT(deh SATAR FEeA=l WA Adaaedadiet TiumH Taee .

SISIS

[4904]-1003 4



Total No. of Questions : 5] SEAT No. :

P3028 [Total No. of Pages : 4

[4904]-1004
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1004 : Indian Economic Policy

(2013 Pattern) (Credit System) (Non Core Course)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer in 250 words each.

Q1) Explain the Indicators of Economic Development. [10]
OR

Explain the employment trends in organised and unorganised sector.

02) Explain the measures for stabilising Agricultural prices. [10]
OR

Discuss the problems of privatisation in India.
03) Explain the stucture of India's foreign Trade since 1991. [10]

OR

Elaborate the problems associated with disinvestment.

P.T.O.



Q4) Discuss the issues of Infrastructure Development in India. [10]
OR
Explain the Indian financial system.

Q5) Explain the characteristics of Indian Industrial sector in post-reform period.[10]
OR
Discuss the issues in labour market reforms.

SISIS

[4904]-1004 2



Total No. of Questions : 5]

P3028
[4904]-1004
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1004 : Indian Economic Policy
(2013 Pattern) (Credit System) (Non Core Course)
(FTET 'aTaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @d 997 JTEvgR IHTEd.
2) IdlRElT STk TvATd Ul TUT Fifaard.
3) 3w A¥#l T {gage S@Tdid.
4) 3w gadr 250 vrsera forgr.
5) dguiarst gw Ut UvaufasT ugrdd.
g 1) sufdew oo fAdre wae . [10]
e
97 2) viauTe fhua feedfieumardtean SuUrEisET Tute . [10]
e
WRATATE WIS ehuTTeaT TR Tl .
gy7 3) 1991 UTHATAT HRATSAT URIhT SATARTE TOHAT TUE . [10]

Tema



¥ 4) WRATSAT IrEyd e fasmerean siferegial Jagret o= . [10]
feRan
R foia gourref=i AT e &,

97 5) wRaredn Ao GRUT Savean sitaifies el afvnesr wuwe . [10]
foRan

SISIS

[4904]-1004 4



Total No. of Questions : 5] SEAT No. :
P3029

[Total No. of Pages : 4

[4904]-1005
M.A. (Part - I) (Semester - I)

ECONOMICS
Labour Economics
(2013 Pattern) (Credit System) (Optional)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the points.

4)  Answer in 250 words each.

Q1) Discuss the nature and characteristics of labour market in developing conutries.
Like india. [10]

OR

Migration of labour is harmful to industries but inevitable in India. Comment.

02) Critically examine marginal productivity theory of wage determination. Is it

really applicable in labour market? [10]
OR
Explain the term Labour turnover' what are the causes of low labour turnover
inindia.
(Q3) What are the causes of industrial disputes. [10]

OR

Explain the structure and achivements of labour unions in India.

P.T.O.



04) Explain the causes of obseuteeism of Indian Industrial labour. [10]
OR
Explain the cashses of flexibility in labour market in India.

05) Explain the concept of exit policy. [10]
OR
Discuss the recent trends in child labour policy in India.

SISIS

[4904]-1005 2



Total No. of Questions : 5]

P3029
[4904]-1005

M.A. (Part - I) (Semester - I)
ECONOMICS
Labour Economics
(2013 Pattern) (Credit System) (Optional)
(FTET 'aTaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @d 997 JTEvgR IHTEd.
2) SwdtwSter ofw guf ur Fifaara.
3) 3w A¥#l T {gage S@Tdid.
4) geaew gwaTet 250 vregia 3w fergr.

gyq 1) ORAEREA o STdier SR Ty ST afyresr=t w=t . [10]
e
ST TIATAR et ITRTMHT TTeeh ST a<t ot WAt STANET SATE. Ve .

gyq 2) daq ffvedean faura scurgewar faesgrarer fewreres ufteror . om aremuda

Al WRIER @R gal i ? [10]
e
HIOT RIVTAT ?
g97 3)  IiTEfieR sheTgTeil ShIUl ShIUTdT 3TTd ? [10]
e

R HTTR T AT T I97 TUE .



797 4)  WRATA AfeRiea sruierdiel RO TR . [10]
WHATAT JASITSR USdiet A elehd=l ShITUT TS hl.

g7 5) ﬁh#aﬁwn%ﬁwwm [10]

TRATA A TTA HIETR RO TeTehseal Yadiar Tl .

SISIS

[4904]-1005 4



Total No. of Questions : 5] SEAT No. :

P3030

[Total No. of Pages : 2
[4904]-1006
ML.A. (Part-1) (Semester - I)
ECONOMICS
EC-1006 : Mathematical Economics
(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:-

1) Attempt all questions.
2) Figures to the right indicate full marks.

3) Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.
5) Use of nonscientific calculator is allowed.
Q1) Answer the following question. (any one) [10]
a) Find the values of when
i) X=\/6+\/6+\/6+\/6+oc
it) x=3x*+10x+3=0
OR
b) Find the marginal average cost if cost function is given by
. . 5
TC =36x — 10x* + 2x°. Also obtain marginal cost at x = >
02) Answer the following question. (any one) [10]
a) A machine costs a company Rs.52,000 and its effective life is estimated
to be 25 years. A sinking fund is created for replacing the machine by
new model at the end of its left time, when its scrap realizes a sum of
Rs. 2,500 only. The price of the new model is estimated to be 25%
higher than the present one. Find what amount should be set aside every
year, out of profits for the sinking fund, if it accumulates at 3% per cent
per annum compound.
OR
123 012
A= B=
S S

Verify A+ B=B+A

PT.O.



03) Answer the following question. (Any one) [10]

a) Solve the following system of equations.

2x+3y+3z=5
x-2yt+tz=-4
3x—y—2z=73

OR

16
b) Given the demand function x, = —z — @d X, =—— find the four partial
B U P, P2

elasticities of demand

04) Answer the following question. (Any One) [10]
a) The price of the quantity demanded under perfect competition is
determined by demand and supply laws, P, = xi+1_ 2and P, = %(X+3)
respectively. Determine the corresponding consumer’s surplus.
OR
b) Find the points of maxima or minima of the function f{(x) =x* — 6x* + 12x—38.

05) Answer the following question. (Any one) [10]
a) Draw the graph of linear inequalities:
Sx+4y <200
3x+ 5y <150
Sx+4y>100
x>0,y>0
Also indicate the common region.
OR

b) The tax rate ‘t’ for a good is related to its consumption quantity ‘q’ by
the relation t = 18 — 3. Find the optimal tax rate.

SISIS

[4904]-1006 2



Total No. of Questions : 5] SEAT No. :

P3031 [Total No. of Pages : 4

[4904]-2001
M.A. (Part - I) (Semester - II)
ECONOMICS

Micro Economics Analysis - 11

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answers should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) "Perfect competition is a myth" Discuss. [10]
OR
Explain the equilibrium of a monopolist in the short run with appropriate
diagram.
(02) Why price discrimination exists in monopoly? What are its types. [10]

OR

What is meant by selling costs? Show diagramatically a firm's equilibrium
under selling costs.

03) Explain cournot's model of oligopoly. [10]
OR

What is a cartel? How price and output determination takes place in a cartel?

P.T.O.



04) Explain the dominant strategy equlibrium in the game theory. [10]
OR
Criticize baumol's theory of firms.

05) Explain the concept of Pareto optimality in welfare economics. [10]
OR
What is meant by compensation criteria. Give its basic Assumptions.

SISIS

[4904]-2001 2



Total No. of Questions : 5]

P3031

des - 3 ar@]

goAr -

1)
2)
3)
4)
5)

[4904]-2001
M.A. (Part - I) (Semester - II)
ECONOMICS

Micro Economics Analysis - I1
(2013 Pattern) (Credit System)
(TTdt ®wuTaR)
[T%wT o1 : 50

qd gvq @isfavt sravass 3T
STHTRETA 37eh Yul U gvifadrd.
I gigFId T gege HArdid.
Teder gvATa 3R 250 vrsgia @ra.
qgutarst ge 3USH U991 ugrai.

v 1)

9T 2)

797 3)

““qut ToUl AINTRUS wTeufe ATE . wdl whl. [10]

fepenn

TR SATHA AT ATEAT HhGRTET HCUSHTSA [ THAT TIE .

Aeha™l ITTRUSd fehAawe o1 StfEdeard It ? ferAaue= TR shivrd ? [10]

feRan

fershree rgua S ? feshreaieg ScaTeTEween auard AThdIgR qrEET.

HCTTATIARR ATTRUSHIA FATA ATTHH T hl. [10]

feRan

fershree (cartel) wgurst e ? TershieaTa fohma @ Scargafafverdt it g ?



yvT 4) T fasgmardter auel saaETE Qe THaiel Tt . [10]
femen
ATHIA=AT ScaTeaEeT faegiara derreres wderon forgr.

Ty7 5) HEATUTRT NAVTETAIA Uere UaiHdl EehedT Tase ahl. [10]
e

wRUTE Y FRUTS T ? T Asd e |

SISIS

[4904]-2001 4



Total No. of Questions : 5] SEAT No. :

P3032 [Total No. of Pages : 4

[4904]-2002
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2002 : Public Economics - II (Credit System)

(2013 Pattern) (Compulsory)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) Explain the principle of management and repayment of public debt. [10]
OR

Explain the classification of public debt.

(02) Explain the preparation and presentation of budget. [10]
OR

Explain the trends in expenditure of union Government since 1991.

03) Explain the problem of vertical and Horizontal imbalance federal finance in
India. [10]

OR

Discuss the interdependance of monetary and fiscal policy.

P.T.O.



Q4) State and explain the recommendation of Kelkar commitee. [10]
OR
State and explain in details the sources of revenues of the union

Q5) Discuss the burden of public debt on Indian Economy. [10]
OR

Explain the objectives of fiscal policy.

SISIS

[4904]-2002 2



Total No. of Questions : 5]

P3032

[4904]-2002
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2002 : Public Economics - II (Credit System)
(2013 Pattern) (Compulsory)

(TSt TUTHR)

aw : 3 ar|] [T 9T - 50

goAr -

1) @d gv7 @iear.

2) 3wt sfw gut ur geifaara.
3) 3™ A"l T [egg SAETIid.

4) uEw TvT 250 veaTd @reEl.

5) w@ewiard®t go Ut TvIufahT ugrEl.

v 1)

9T 2)

797 3)

TSR Thol STaEATAT o UIdhere ded TUC . [10]
feRan
HTAST ek Shalel S {eR{uT T .

HETIUTRTH! JIaART o ATEERIUT TAEE . [10]
femar
1991 avean shgoehieat @ fauasd Tg T &

WA TS TUIMTATd I SLETH SATI0T “HHEadd STaAdier=!’ THel T

0. [10]
feRan

AAATITTeh o TSATIIT SR0T oA GRS o<t i,



97 4) heseRt A=A PHIEREt | F T . [10]
e
heTel I BT FfeEaiqur T o Tse .

TyT 5) AR STfIaeoEiicl Ara{eh el WRTW <<l . [10]
e

AT Tt 3feser Tuee .

SISIS

[4904]-2002 4



Total No. of Questions : 5] SEAT No. :

P3033 [Total No. of Pages : 4

[4904]-2003
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2003 : International Finance

(2013 Pattern) (Compulsory)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) Whatis balance of payments? Explain the structure and components of balance

of payments. [10]
OR
What is devaluation? Explain the causes of devaluation of Indian Rupee in
1991.
0?2) State and explain the functions of foreign exchange market. [10]
OR
What is flexible exchange rate? Explain the merits and demerits of flexible
exchange rate.
03) Explain the classification on International capital flows. [10]

OR

Explain the importance and role of foreign capital.

P.T.O.



04) Explain the role of non-Banking financial companies in international capital
movements. [10]
OR
What is Euro currency market? Explain the scope and features of Euro
currency market.

05) Explain the objectives, functions and achievements of International monetary
fund. [10]
OR

What is convertibility of rupee? Explain the Benefits of convertibility of Rupee.

SISIS

[4904]-2003 2



Total No. of Questions : 5]

P3033

[4904]-2003
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2003 : International Finance
(2013 Pattern) (Compulsory)

(TSt TUTHR)

aw : 3 ar|] [T 9T - 50

goAr -

1) @d gv7 @iear.

2) 3wt sfw gut ur geifaara.
3) 3™ A"l T [egg SAETIid.

4) weaw Fwara 250 reqia IwR forgl.
5) dgutarst gw Ut uvaufasT ugrdl.

v 1)

797 2)

797 3)

SHAERATA TUTS h1d ? STAgRATAT=I =T 9 Ueeh TU . [10]
feRan

FAUEAT FEUS ®wE? 1991 Wefier W SUaT=dl AaHea-Tel Ul TS
.

foresht fafma aem=R ™ | o e w59, [10]
femar
FEAT fAfHEER gUTS 19 ? agetet fafmeea qur-gi Tuse &,

ATAWTLE T HISTATATES ARTHI0T TIEE . [10]
Tema

ool wisae™ 7 o et T .



TvT 4)  SATARTET HISTATeAT ETAATA AT Schal 1o shuwmeit Jieent T . [10]
foRan
U TEFATR TEUN 1 ? U TSI SATHE o STITee TUee .

gyT 5)  Sanrey At 3feven, wrd enfur wmith e w0, [10]
e

FUIAT UREAH =T FgUTs i ? EUATSAT Tad ==l Wi T o,

SISIS

[4904]-2003 4



Total No. of Questions : 5] SEAT No. :

P3034 [Total No. of Pages : 4

[4904]-2004
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2004 : Agricultural Economics

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer in 250 words each.

Q1) Explain the significance of special economic zone (SEZ) policy in India.[10]
OR
Explain the role of ' NABARD' in agricultural credit.

(0?2) State and explain the causes of low productivity of Indian agriculture. [10]
OR

Explain the scope of Biotechnology in Indian Agriculture.

03) What is food security? Explain the problems of food security in developing
countries. [10]

OR

Explain the problems of Agricultural labour.

P.T.O.



04) Explain the impact of machanization on agricultural labour in India. [10]
OR
Explain the favarable effect of W.T.O. on Agricultural sector.

05) Describe the problems of agricultural marketing in India. [10]
OR
Explain the structure of cooperative credit system.

SISIS

[4904]-2004 2



Total No. of Questions : 5]

P3034
[4904]-2004

M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2004 : Agricultural Economics
(2013 Pattern) (Credit System)
(FTET ' 4TaR)
aw : 3 ar|] [T 9T - 50
geEr :- 1) @d 997 HTavaE AT
2) 3wt sfw gut ur geifaara.
3) SW AFW&l T Yggq HATEl.
4) weasht I 250 vreera fergr.
5) w@ewiard®t go Ut TvIufahT ugrEl.

o7 1) wRaTde favw e &= (J) SRUTS Wk TR W [10]
femen
et foeRTETdie ATaTEl ©it YiHeT T &

97 2) URAR A=Al 36T IcUTSehd<! IR0l AT & TISE T, [10]
femar
WRATA T S A=T= saTHT ferere .

g7 3)  ATERE TEUN w1 ? TUhEANTe I rEReean auen wee &, [10]
femar

JAUSEAT THET €A .



T 4) ARATATA ATHRIATUT IAHSTERIET TRUTTH €Ut Tl
feRan

ATTfaeh SATUR THeAd AT A laie el YN TUee .

T97 5)  WRATA vt forfsheaaeerean et T .
TEhR AT HAYLFST TAT T hl.

SISIS

[4904]-2004 4
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Total No. of Questions : 5] SEAT No. :

P3035 [Total No. of Pages : 2

[4904]-2005
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2005 : Industrial Economics

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates :

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) State and explain the scope and significance of Industrial Economics. [10]
OR
Explain the problems of public sector Industries in India.

Q2) State and explain the factors influencing location of Industries. [10]
OR
Explain the need for balanced regional development of industries. What is
the role of SIDC in it ?
03) Explain the main elements of Industrial Productivity. [10]
OR

Explain the importance of productivity in the competitive environment.

Q4) Discuss Govt's policy towards foreign capital in India. [10]
OR
Explain the different sources of Industrial finance.

05) Explain the problems of small and medium enterprises in India. [10]
OR
Explain the role of multinational componies in India.

SISIS

P.T.O.



Total No. of Questions : 5]

P3035

[4904]-2005
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2005 : Industrial Economics
(2013 Pattern)

(TSt T UTaR)

aw : 3 ar|] [T 79T : 50

geAT -

1) @d 997 ATavgE TEd.
2) @ FIAAT GHIT UT SHTEA.

97 1)

797 2)

797 3)

777 4)

797 5)

frenfireR srelvmrET=ht =Tt enTfur wgear Tuse e |, [10]
femen
YRATA A ATAATeh QT Il STRTEAT THET TS .

STRTrEAT TATIRIHIUTER THTE USUTR U2k AT o TUSE . [10]
e
STRTAT Hgfed UTefvreh faepmame et wuse &, SIDC =it it @ ?

3TN ScuTgeha™ THE T TUte Hl. [10]
feman
TR ATATAUIA A ScaTaehd< Wged TISC ol

Th 1T WISHET=AT HEHTd WA TR &TRUT TS . [10]
feRan
sfrenfires fomgrasa fafay s wee wa.

WRATATA ¢Tg T HETW TARTAT THEAT TAE . [10]

fema

SISIS)



Total No. of Questions : 5] SEAT No. :

P3037 [Total No. of Pages : 4

[4904]1-3001
M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3001 : MACRO ECONOMICS Analysis - 1

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precised and to the point.

4)  Answer each question in 250 words.

Q1) Distinguish between Nominal Gross Domestic product and real gross domestic
product. [10]

OR
Explain the concept of GD.P. GNP and NDP.

02) Explain the classical approach of Aggregate Demand and Aggregate supply
curves. [10]

OR
Explain the Multiplier Effect

03) Whatis Aggregate Demand curve? How do you derive the Aggregate Demand
curve with the help of IS-LLM curve? [10]

OR

How is LM curve derived?

P.T.O.



Q4) Explain the working of accelerator. [10]
OR
Explain the Rational Expectation Hypothesis.

05) Explain Life cycle Hypothesis of consumption. [10]
OR
Describe the Keynesian Theory of Employment.

SISIS

[4904]-3001 2



Total No. of Questions : 5]

P3037
[4904]-3001

M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3001 : MACRO ECONOMICS Analysis -1
(2013 Pattern) (Credit System)
(TS TUTER)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @F wv7 @isa.
2) 3wt sfw gut ur geifaara.
3) 3™ A"l T [egg SAETIid.
4) uEw TvT 250 veaTd @reEl.
5) w@aWlarst Yo U GeAUleht ugTel.

gv7 1) e T CITTORTA ScdTeH SATTUT SR T[e STiaiia ScaTe ATaiet ek graat.[10]
Teran
T QI 3cUTeA, T U IcdTed o THeaes Somaiia SedTe a1 HeheuHT
e .

YT 2)  EATAHETTET URUT HETUH S5k o TRUT QREST a5k Arataadr geereni waee &4.[10]
e
T[UTeh URUTTH T .

yy7 3) TR WURTUT S5k FEUTS Sh1d ? USRUT HITUR ashreit ATt [S-LM Sshreat @eream
I AT Ad F WAL [10]

fepenn
LM =err=it fafifdt wvft g ?



T 4)  TET deaTel ULt T W, [10]
fepenn
ThETd YT THEheTAT TUE .

97 5)  SUNATEATY Saq Ogh UeheuqT Ta% o, [10]
fepenn
% Il AR fowaes faegma feore =,

SISIS

[4904]-3001 4



Total No. of Questions : 5] SEAT No. :

P3038 [Total No. of Pages : 4

[4904]-3002
M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3002 : Growth and Development - I

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precised and to the point.

4)  Answer each question in 250 words.

Q1) Explain the concept of growth and development. [10]
OR

Explain the 'world distribution of Income and Development gap'.

Q2) Whatis income inequality? How income inequality is measured? [10]
OR

Explain the impact of inequality on the process of development.
03) Explain the '‘Big-push' theory of Economic development. [10]

OR

Explain the "Unbalanced" theory of Economic Development.

P.T.O.



04) Explain the Harris-Todaro model of migration. [10]
OR
Explain the problems of urbanization.

05) Explain the causes of development gap in various countries. [10]
OR
State the Age-structure of population and sex-ratio in India.

SISIS

[4904]-3002 2



Total No. of Questions : 5]

P3038
[4904]-3002

M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3002 : Growth and Development - 1
(2013 Pattern) (Credit System)
(FTET ' 4TaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @F wv7 @isa.
2) 3wt sfw gut ur geifaara.
3) 3w A¥Hl T {gage S@Tdid.
4) ua®w gvT 250 vrsgiad @isdl.
5) dgutarst gw Ut uvaufasT ugrdl.

gyg 1) et oATivT TorehT@l A1 HehoUAT TUSE AT [10]
fepenn
*‘Ieaemer STTTaek feravor sArfor feermaTdier oiae’’ Tuee .

g97 2) SUSAfIEHAl WU 1 ? SUd fawmas Wiy 8 el ST ? [10]
feman
IeqAfaaHae eArfeier faerma ufshaadier uftorm feore .

g7 3) erfeies faemamen gae wmen fasgia wuse . [10]
e
anfeie fareRTamen erEgica faegma Tase .



97 4)  TIAATA FREA-2IEA UfaH Taee . [10]
feRan

ITEHRIUTTEAT AHET T HAT.

g7 5) Tafau ueeren fawmTder Siat wRul Tt & [10]
feRan
TRATH A FAThEGIe TAAHITHAR AT ST & —J&y THT0T §R.

SISIS

[4904]-3002 4



Total No. of Questions : 5] SEAT No. :

P3039 [Total No. of Pages : 4

[4904]-3003
M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3003 : Modern Banking
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

4)  Answer each questions in 250 words.

Q1) Explain the structure of financial system.
OR

Explain the principle of liquidity, safety and profitability.

02) Explain the role of modern banks in India.

OR

Comment on the present status of co-operative banks in India.

03) Explain the types of non-banking financial institutions in India.

OR

Explain the functions and role of LIC.

[10]

[10]

[10]

P.T.O.



Q4) Explain the nature and role of foreign exchange market. [10]
OR

Explain the recent trends in the exchange rate and its impact on the Indian
economy.

05) What is Foreign direct Investment? Explain the arguments for and against
foreign direct Investment [10]

OR
Explain the structure of Indian capital market.

SISIS

[4904]-3003



Total No. of Questions : 5]

P3039
[4904]-3003

M.A. (Part - II) (Semester - III)
ECONOMICS
EC-3003 : Modern Banking
(2013 Pattern) (Credit System)
(FTET ' 4TaR)
aw : 3 ar|] [T 9T - 50
geAar ;- 1) @F wv7 @isa.
2) IdlRElT STk TvATd Ul TUT FVifaard.
3) 3w A"Hl T Jeggg Iaraid.
4) Tk gvAia I 250 veaTd H@Ta.
5) w@ewiard®t go Ut TvIufahT ugrEl.

gow 1) Taia gume=h AT Tuse . [10]
e
TGN, GIATAT SATTVT ATHA qed TASE Tl

Ty7 2) WRATHIA Sk SRt YA TUte . [10]
e
WRATATA TghTI TRTeAT TEI AR WS .

g97 3) WRATAIA bt faeia TETa YehR T . [10]
e
WRATT STIfIHT WETHSHTE Hhid AT Rt TIee .



yvT 4) uteha Al s e ST iRt T . [10]
feRan
geare fafima gudie seaT JaR foT @ ARd T stdsaedaiier uioms
TeE .

gyT 5) UvhE Teaet AaUh TEUTS R ? UTEhId Teaet AauehiedaT e[ STt foeeg

FhIATE TIE . [10]
feRan
WA HiSad TR AT T 0.

SISIS

[4904]-3003 4



Total No. of Questions : 5] SEAT No. :

P3040 [Total No. of Pages : 2
[4904]-3004
ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3004 : Demography

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.
Q1) Explain the relationship between demography and other disciplines. [10]
OR

Explain the distribution of World population.

02) Explain the optimum population theory . [10]
OR
Explain the Herbert - spencer's biological theory of population.

03) What is census? Explain the uses and importance of census. [10]
OR
What is fertility? Explain the factors affecting fertility.

04) What is labour force? Explain trends of labour force participation in India.[10]
OR
Explain the population distribution in India.

05) What is mortality? What are the causes of child mortality in India. [10]

OR
Explain the Malthusian theory of population.

PTO.



Total No. of Questions : 5]

P3040

3z : 3 @]

[4904]-3004
M.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3004 : Demography
(2013 Pattern) (Credit System)

(AT EUTR)

e r :— 1) @ gv7 @isar.

2) ITFIESIT 3k TIITE QU YT FIEAATA.
3) 3R gEgg HTT T AT

4) e gvT 250 I15qTd isdl.

5) @euIars? gw@ su FvAaiFHT TETal.

[ Tgvr 771 : 50

97 1)

797 2)

97 3)

77 4)

97 5)

TNREATATITE SATIT ST T AT T el TP ol
e
WTfeh eliehaEa™ feawor e .
e
Fee-FU-ET=N Sifaeh faegia we =,

O OIS h1d ? AUl ST ATIUT Aged TUC .
feman
TATLIHAT FEUTH ShTd ? TR UNRUTTH hUTR Tk TIE .

YUGA FEUTH I ? WRATATA HAGEATAT TgHRITA A Tgt T8 .

femar
WRATATA eTehEEde faawur Tuse .

AT TEUNS e ? HIRATATS STy cgairelt ShiXut Shivr ?
eran

2

[10]

[10]

[10]

[10]

[10]



Total No. of Questions : 5] SEAT No. :

P3041 [Total No. of Pages : 2
[4904]-3005
ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3005 : World Economy

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point
4)  Answer each question in 250 words.
Q1) Take areview of evolution of global economy. [10]
OR

Evaluate role of MNCs in world economy.

Q2) Discuss problems faced by EU in recent period. [10]
OR
Discuss role of African Countries in global economy.

Q3) State objectives of SAARC an suggest measures for its sucess. [10]
OR
Explain role and importance of China in global trade.

Q4) What are the causes for US debt crisis? [10]
OR
Discuss effects of disintegration of soviet union on world economy.

Q5) Discuss effects of globalisation on Indian Economy. [10]
OR
Explain problems faced by Latin American Countries.

00
P.T.O.



Total No. of Questions : 5]

P3041

[4904]-3005
M.A. (Part - IT) (Semester - III)
ECONOMICS
EC - 3005 : World Economy
(2013 Pattern) (Credit System)

(ATt TUTR)

d% : 3 am] [T T - 50
geqr ;- 1) §d g97 @i

2) IwHtREtA 37k Ul uT gIIfadrd.
3) I AW T gegg HATEA.

4) UcA® 999 250 vreqia giEdl.

5) @euTarst ges 3USI G9IUlAHT UgTat.

97 1)

9 2)

97 3)

97 4)

o¥3 5)

AR ATSTTEATAT IhicTel SATSTAT 4T, [10]
fehan

AT AT AT TeATeAT AHET Tl . [10]
fehan

VAT T AR Tefeaedrdicl ekt TraicHeh Uegdi= WIS,
gferur sryfiam= Uiyt Tgehtd Wueq<l 3fEsel UnE = vt SuT™

T . [10]
feRar

AR SATIRTE formel Wgea @ ARt Ta8 .

AR TT hol Tehe el HRUT HIVTAT T ? [10]
feRar

Aicgive FHaeaT forge JrTiaesh STeaadar STeedn TNuTHTE! Tl &

WRAT ATTTEAT ATATAT AT crehl HIOTTAT TRUTTHT= o<t ohdl. [10]
feRar
00
2



Total No. of Questions : 5] SEAT No. :

P3042 [Total No. of Pages : 3
[4904]-3006

ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3006 : Economics of Finance

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50

Instructions to the candidates:
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point
4)  Answer each are question in 250 words.
5) Draw neat diagrams wherever necessary.
6) Use of nonscientific calculator is allowed.

Q1) Explain the structure of financial system in India. [10]
OR
Explain the Role of Financial sector in an economy.
Q2) Explain the money and capital market Instruments. [10]
OR

State the difference between depository institution and Non-depository institution.

Q3) Explainthe concept of portfolio and the role of capital asset pricing model.[10]
OR
Explain Arbitrage pricing theory and its significance.

Q4) What is swaps? Explain the types of swaps. [10]
OR
What is future market and explain the risks in future market.

Q5) How the financial system is regulated? [10]
OR

Explain the concept of derivatives and state its various types.

P.T.O.



Total No. of Questions : 5]

P3042

d% : 3 am]

oAt ;- 1)
2)

3)
4)
5)
6)

[4904]1-3006
M.A. (Part - IT) (Semester - III)
ECONOMICS
EC - 3006 : Economics of Finance
(2013 Pattern) (Credit System)

(ATt TUTR)

ad g7 gigar.

3™ GBgg AT T STaTdid.
edeh 99 250 I5qTd ISl
STIYTH I SATHT HTET.

[T 701 - 50

ggq 1)  WRaArde fosia gegdi=i ae=qT Wy &,

feRar

TRt o SETe qfiehT Y &

g9q72)  FAUENR AT Wigaer SR arae T8 .

feRar

Freftames geur amfor At URer FEAT ATdier W |1,

[10]

[10]

97 3)  EEAUES HeheUAT ATV Higaed WA fohda UTcaT=Te HiHehT HeheuT T &r.[10]

feRar

o (Arbitrage) forma faegia wog e @@= g |,



goq 4)  TosiE AneEmEi sedTEee U Rl ? Tl TehR T8 AT,
feman
Afors IR TgUS 19 ? o AR AT STRIAe Sich TI8 o,
gy7 5)  fasita guredt st e selt S ?
TeRam

we-a (Derivatives) g Tehedt Tog &0 ot fo=r fafay ger T w0,

[4904]-3006 3

[10]

[10]



Total No. of Questions : 5] SEAT No. :

P3043 [Total No. of Pages : 3
[4904]-4001
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4001 : Macro Economics - 11

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer each questions in 250 words.

4) Answer should be precise and to the point.

Q1) a) Explain the Gurley and shaw Hypothesis. [10]
OR
b) Explain in detail 'Fisher's Quantity theory of money'.

02) a) Explain liquidity measures according to Reddy Committee Report. [10]
OR
b) State and explain the cash balance approach is demand for money.

Q3) a) Whatis monetary policy? Explain its instruments. [10]
OR
b) Define Inflation? Explain in detail causes of Inflation.

Q4) a) What is high-powered money? Explain the relationship between high-
powered money and money supply. [10]
OR
b) Explain keynesian liquidity preference theory of Interest.

05) a) Explain the concept of phillips curve. [10]
OR

b) Explain in brief the measures of money supply.

PTO.



Total No. of Questions : 5]

P3043

3z : 3 @]

gerr i~ 1)
2)
3)
4)
5)

[4904]-4001
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4001 : Macro Economics - 11
(2013 Pattern) (Credit System)

(FET EUTR)

[ Tgvr 771 : 50

TE TIT HTATIE HTET.
ITAIHSTT 37 Ul T FIAATA.
i AT 250 eqTa 3T feigT.
IR AFHT SHATIT G ge FHETA.

g7l)  H)

)

T97 2) 37)

)

g973) )

et SATTUT I UReheuAT TIY .
foRan

E Affdl AEATAAR TeSAT WO TAE .
e

Trrea AnTUfiEEEen G igew fasgia @ o we w0,

AT URUT OIS i ? ATl ATeH T8 .
femar

TR SATEAT AT, TeidTel=il iUl TR T .

[10]

[10]

[10]



To74) ) TAAAH FAT TUS HE ? FATGH TET AU GO YREST AT WAL T
. [10]
Tepant
q) HEEl AT IREar qEdl fegia TE .
gg75) 1) fefercd aghreit AehedT TOg &, [10]
fepant
q) GvITEAT QRESATE HIOA oiSeTd ¥9E .

[4904]-4001 3



Total No. of Questions : 5] SEAT No. :

P3044 [Total No. of Pages : 2
[4904]-4002
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4002 : Growth and Development - |1

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50

Instructions to the candidates:
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4)  Answer each question in 250 words.

Q1) What is Infrastructure? Explain the role of Infrastructure in Economic
development. [10]
OR
What is Disguised Unemployment? Explain the causes of Disguised
Unemployment.

Q2) Explain indetail the role of Fiscal Policy in developing countries. [10]
OR
Explain the Importance of Import Substitution.

Q3) Explain the type of Foreign Capital Investment. [10]
OR
Explain the role of world Bank in the Economic development.

Q4) Explain the role of Markets in the developmental process. [10]
OR
Explain the role of self help groups in development.

Q5) Explain the problem of foreign debt. [10]
OR
What is monetary policy? Explain the co-relation in monetary. Policy and
Economic development.

P.T.O.



Total No. of Questions : 5]

P3044

[4904]1-4002
M.A. (Part - II) (Semester -1V)
ECONOMICS
EC - 4002 : Growth and Development - |1
(2013 Pattern) (Credit System)

(ATt TUTR)

d% : 3 am] [T T - 50
geqr ;- 1) §d g97 @i

2) IwHtREtA 37k Ul uT gIIfadrd.
3) I AW T gegg HATEA.

4) UcA® 999 250 vreqia giEdl.

5) @euTarst ges 3USI G9IUlAHT UgTat.

97 1)

9 2)

97 3)

77 4)

97 5)

TTEATHA G TEUN i ? ST forehTaTa uransd grarerei qiweht wag . [10]
e
U5 dhRl TEUTH hidl ? Te8— dehiiial ShRUT TUY ohil,

Toreraasiier YTl USTeRINTE RUTTE fHehT AT Tt . [10]
feRar
ATITA G R0 Hed TUY .

UG WIETA aaufehiel TR TIE AT [10]
e
Tt faehETdiel "Rt sfohell fHehT TIY .

Toema ufshardiel STaRUR ! iRt TIE . [10]
fema
Trermardier TogagaaT soa Ter YT T w1,
TH T ShoTel THET TY 0. [10]
fema
TAAATTIIR U7 FFUTH R ? ATk LIR0T F TR farerm ardier aeem
Y WY .
00
2



Total No. of Questions : 5] SEAT No. :

P3045 [Total No. of Pages : 2
[4904]-4003
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4003 : Research Methodology

(2013 Pattern) (Credit System) (Core Course)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1)  Attempt all questions.

2) Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

Q1) Whatisthe Fundamental and Applied research? Explain the difference between
Fundamental and Applied research. [10]
OR
What is Research? Explain the nature, objectives and importance of social
science research.

Q2) What is the sampling techniques? Explain the various types of sampling.[10]
OR
Define hypothesis. Explain the role of hypothesis in research.

Q3) Explain mean, median and mode with the help of examples. [10]
OR
What is the classification of data? What are types of classification of data.

Q4) Explain the importance and types of global information sources. [10]
OR
What is hypothesis testing? Explain the process of hypothesis testing.

Q5) What is correlation? Explain various types of correlation. [10]
OR

Explain the stages involved in designing research.

P.T.O.



Total No. of Questions : 5]

P3045

[4904]1-4003
M.A. (Part - II) (Semester -1V)
ECONOMICS
EC - 4003 : Research Methodology
(2013 Pattern) (Credit System) (Core Course)
(TSt EUTR)
d% : 3 am] [T T - 50
geAr ;- 1) TE99T HTIvTeh ATed.
2) IwHtREtA 37k Ul uT gIIfadrd.
3) I AW T gegg HATEA.
4) @eulaTst Yoz $USHt qyAatAeHT UgTa.

o7 1)  HAYA o SATANeR HINGA TgUNA T ? A o SATATNeR HINLATATA Tk
WY 0. [10]

Tepam
IMEM TEUN hTd ? ATHTINT JITET INEATS Ta@T, ILIT AT Weed T .

gy72) 9 fHae 99 o @ ? 99t Hade fafay veedt wmm. [10]
e

97 3)  ISTIUNRAT HERAT AHTY HIEd, HedehT mﬁaga%smm. [10]
TeRam
AT AT hIUT TEUTS h1d ? A2ITEAT SNSRIl TehR ShIUTd ETT.

97 4)  WTideR ATREAT FAre Ag<d AT JehR TAT . [10]
fepeat
TReheu=il Tt TS ™ ? Ieheu-=a1 araviel Ifshar T8 .

g9q 5)  OgEaY U i ? Ggaadre fafaa yer waw @, [10]
TRt
HINGT HANREET TR HUATA A fafaer <o |,

00
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Total No. of Questions : 5] SEAT No. :

P3046 [Total No. of Pages : 2
[4904]-4004
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4004 : Rural Development

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.
4) Asnwer each question in 250 workds.

Q1) Explain the structure of Rural Economy of India. [10]
OR
Discuss the land reforms in India.

02) Explain the problems of Women Empowerment in India. [10]
OR
Evaluate the performance of Training Rural Youth for self employment.

03) Discuss the Gandhian approach of Rural Development in India. [10]
OR
Explain the problems of rural infrastructure in India.

04) Explain the note of microfinance in Rural Development of India. [10]
OR
Explain the Causes of Rural Poverty in India.

05) Examine the performance of Swarn Jayanti Grameen Swarojgar Yojana in

India. [10]
OR

Critically evaluate the performance of self help groups in India.

PTO.



Total No. of Questions : 5]

P3046
[4904]-4004
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4004 : Rural Development
(2013 Pattern) (Credit System)
(A EATR)

ges : 3 ard] [ vzoT 797 - 50
o o~ 1) @ T97 @ISl Sravass Tgd.

2) ITFIESIT 37k QU T VAT

3) 3w UITFIIT T YRgE HETEIA.

4) yde gyaIe 3% 250 IreqTa IETa.

5) @guIarst g st TIAaiAhT Tgran.

go7])  WRATAA UTHIOT STeiedaRl=it Ei=qT TE . [10]
TeRar
HRATATS IS aaeh ERUTE Tt .
go72)  WRATATA HigAT Tl epuiauder THET TY . [10]
TeRar
UTHIUT ARSI IR Tioneror swriswarean (TRYSEM) smitd=
HoIaHTIA .
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[4904]-4005
M.A. (Part - II) (Semester - IV)
ECONOMICS
EC - 4005 : Economics of Environment

(2013 Pattern) (Credit System) (Non Core Course)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) Attempt all questions in 250 words each.
2)  Figures to the right indicate full marks.

Q1) Whatis economics of environment? Explain the importance of environmental
economics. [10]

OR
Explain the environment problems arising due to industrial development.

02) Explain the concept of sustainable development in detail. [10]
OR
Explain the causes of environmental degradation.

03) Explain social forestry. [10]
OR

Explain the advantages and disadvantages of natural farming.

04) Explain the environment management techniques in detail. [10]
OR
Explain India's environment policy in detail.

05) Explain the effects of environment on human life. [10]
OR
State and explain the causes of different types of pollution.
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[Total No. of Pages : 2
[4904]-2006

M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2006 : Statistical Techniques

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:-
1) Attempt all questions.

2) All questions carry equal marks.
3) Use of non-programmable calculator is allowed.
4) Symbols have their usual meaning.

Q1) Present the following data of the scores of 50 applications who were given
certain test for purpose of selection to a post by taking class intervals as 0 -9,
10 — 19, etc. [10]

67 82 33 44 57 49 34 73 54 63
36 52 32 75 60 33 09 79 28 30
42 93 43 80 03 32 57 67 84 64
63 11 35 28 10 23 08 41 60 32
72 53 92 88 62 55 60 33 40 57
Plot less than ogive curve and obtain the value of median graphically.
OR
Explain the following with an illustration each.
a) Anevent
b) Sureevent

c) Mutually exclusive events

d) Complement of an event

P.T.O.



02) Compute the correlation coefficient between sales and profit of ten firms and
interpret it. [10]

Sales: 50 50 55 60 65 65 65 60 60 50
Profit: 11 13 14 16 16 15 15 14 13 13
OR

Write a note on skewness.

(03) Following is the probability distribution of a discrete random variable X. Obtain

the distribution function and expected value of X. [10]
X : 0 1 2 3 4
P[X=x]: 0.15 020 025 030 0.10

OR

Explain different components of time series.

Q4) For the data given in the following table, test for independence between ability
in mathematics and interest in Economics. Use 5% Level of significance.[10]

Ability In Mathematics
Interest Low Average High
In Low 63 42 15
Economics | Average 58 61 31
High 14 47 29
OR

Explain sampling and non-sampling errors.

Q5) Compare arithmetic mean, median and mode as measures of central tendency.[10]
OR

Four cards are drawn at random from a pack of cards. Find the probability
that they are

a) of different suits
b) of same suit
c) all diamonds
d) all are face cards
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